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jx wxxxxxrxrx*s Demonstration and Simulation of¥¥**¥¥XEx XXX EXRXE ¥/
% xxxxxxxxxxxxx A FOUR BAR LINKAGE WALKING 7181510 Rt bl |

#include <graphics.h>

#include <math.h>

#include <stdio.h>

#include <conio.h>

#include <time.h>

/* 36000/2MHz */
#define count 36000

#define T 0.018



#define pi  3.142857

#define base 0x220

#define CLI() (disable())

#define STI() (enable())

#define PRESSED 1

/* *** Samplingtime(T)=count/2MHz *** */
float T;

int count;

float S,s,C,D,E,A, datal7],w,a;

int dat[5),ary1[5],ary2[5],er,fun,xx,yy,x1=150,y1 =430,8T,SP;
int choice,b,bb,c,cc,ee,e,iii,j,J.kkk.m,p;
double vf,vb;

char vy,

void  *saucer,

FILE *infile,*outfile;

struct point {int x,y;};

extern pcl812(int,int*,int*,int*);

main()

int driver,mode;

driver=DETECT,
initgraph(&driver,&mode,"”);
write_pos(vf=0,vb=0);
xx=getmaxx(); yy=getmaxy();
p:

Main_window();

Gearl();
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pl:
Main_menu();
choice=bioskey(0);
ifchoice==0x5000){b++;bb+=30;goto p1;} /* i=case,ii=blink step */
if(choice==0x4800){b—;bb-=30;goto p1:}
if(b==4&&choice==0x1c0d){clearviewport();closegraph(};exit(0);}
if(choice==0x1c0d)

{

switch(b)
{
case 1.
p22:
/* Lﬂuziqummmm%ﬂﬂafmmﬁwmuLLm-LLm*/
clearviewport();
comm_menu();
choice=bioskey(0);
if(choice==0x5000){ b++;bb+=30; goto p22; }
if(choice==0x4800){ b—;bb-=30; goto p22; }
iflb==2 && choice==0x1c0d){ clearviewport(); goto p:}
if(choice==0x1c0d)
{
system("gencom.exe");
goto p22;
}
else goto p22;
case 2:

ps_1:
ground(0,0,xx,yy);

rectangle(10,10,xx-10,yy-10);



remark("ARROW UP OR DOWN AND PRESS ENTER FOR A
SELECT",95,434,508,449);
shado(170,105,450,130);
outtextxy(190,110,"SELECT GEN. ACCORDING TO A
MENU");

ps_b2:
ad Z‘Q’Juﬁlﬂﬂﬂ’]ﬂmﬂﬂNﬂﬁWﬁr@’lﬂ‘l‘V\lfgﬂ’NL?\‘LA&:”JHJ’]’]W‘UMM%:’IQ@ )
subsim_menu();
choice=bioskey(0);
if(choice==0x5000){b++:bb+=30;goto ps_2;}
if(choice==0x4800){b—;bb-=30;goto ps_2;}
if(lb==3 && choi;:e==0x100d)
{
clearviewport();goto p; @
}
if(choice==0x1c0d)
{
switch(b)
{
case 1:
ps_21:
sub1_subsim_menuf);
choice=bioskey(0);
if(choice==0x5000){c++;cc+=30;goto
ps_21;}
if(choice==0x4800){c—;cc-=30;goto
ps_21;}

iflc==2 && choice==0x1c0d)



case 3:

case 2:

}

else goto ps_2;

ground(220,150,600,350);
goto ps_2;

}

if(c==1 && choice==0x1c0d)

{
sim_comm/1(};
if(ST>6) goto ps_1;
if(SP>b) goto ps_1,
if(ST>SP) goto ps_1;
outfile=fopen("d:\simstep.xls","w");
fprintf(outfile,"%2d\t%2d\n",ST,SP);
fclose(outfile);
setcolor(LIGHTCYAN),
system('simulate.exe");
goto ps_1;

}

else goto ps_21;

outfile=fopen("d:\simstep.xls","W");
ST=1;SP=b;
fprintf(outfile,"%2d\t%2d\n",ST,SP);
fclose(outfile);
system("simulate.exe");

goto ps_1,
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[ ATUTBINTATLANTELILINGI"] ¥/
pl1_3: ‘
Ctrl_menuy);
choice=bioskey(0);
if(choice==0x5000)}{e++;ee+=30;goto p1_3;}
if(choice==0x4800){e—,ee-=30;goto p1_3;}
if(e==2&&choice==0x1c0d)
{
clearviewport(),
goto p;
}
ifle==1 && choice==0x1c0d)
{
Control_posf();
setfillstyle(SOLID_FILL,BLACK);
bar(0,0,xx,yy);

goto p;

case 4.
/* aananllsunsNAILAN ¥/

break;

}

else goto p1;

Tusunsuinlalunisasuauiluuseanidu 3 aaundns Aa

1. AULBINTETN Ian19Lhn
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mngﬂLﬂummwﬂmiﬂﬂﬂwariﬂmmuo’ﬁ*ﬁ
« #include "graphics.h"

#include "math.h"

#include "stdio.h"

#include "conio.h”

#define T 0.018

#define pi 3.142857

float TT,w,a,x,S,tf1,tb1,s,D,EA,
Cf1f{7],Cb11{7],Cf2[7),Cb2[71,RF[7],
RBI7],Rf,Rb,data(7];

int  nf{7],nb[7],n1{7],nf1[7],nb1{7], P[7]xx.yy,m;

double Cf1a[7],Cb1a[7],Cf2a[7],Cb2al7];

FILE *infile,*outfile;

main()

{

int driver,mode;

driver=DETECT,
initgraph(&driver,&mode,");
xx=getmaxx{);
yy=getmaxy();
clearviewport();
input_com();
gen_comm),

}

5 xxxxxxxxxxrEreeeoonxxsxgyly GENCOMMAND MEnU*** X *FFERR XXX K AR KR X ]

comm_menul)

{ int b,bb;

ground(0,0,xx,yy);
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setcolor(RED);

setlinestyle(0,0xffff,3);

rectangle(0,0,xx,yy);

rectangle(15,15,xx-15,yy-15);

setlinestyle(0,0xffff,1);

shado(200,170,420,350);

setfillstyle(1,WHITE);

outtextxy(220,185,"GENERATE COMMAND MENU");
rectangle(200,170,420,200);

“if(b>2){b=1;bb=0:}
if(lo<1)}{b=2;bb=30;}
seffillstyle(1,YELLOW);
bar(200,200+bb,420,230+bb);
rectangle(200,200+bb,420,230+bb);
outtextxy(210,215,"INPUT & GEN. COMMAND");
outtextxy(210,245,"QUIT TO MAIN MENU");

}
/¥ ** use for input distance(s) céntimetre wE
Gen_menu()
{
int ii;
shado(230,260,450,320);
seffillstyle(1,YELLOWY);

) bar(230,260+ii,450,290+ii);
'rectang|e(230,260+ii,45o,290+m;
outtextxy(235,275,"Input command *);
outtextxy(2356,305,"Quit to command menu’);
shado(230,260,450,320);

setcolor(BLUE);



ground(220,250,460,360);
}
input_com()
{
float C,SI;

ground(0,0,xx,yy);

setcolor(GREEN);

rectangle(130,35,490,65);

setcolor(RED);

setlinestyle(0,0xffff,3);

rectangle(0,0,xx,yy);

setlinestyle(0,0xffff, 1);

outtextxy(170,50,"INPUT DIGIT COMMAND AND PRESS ENTER?);
outtextxy(100,100 ,"Input aﬁgu|ar velocity < rad/s >0
scan_textbar(400,90,500,115);

outtextxy(100,150,"Input angular accele. <rad/s"2 L] *;
scan_textbar(400,140,500,165);

outtextxy(100,200,"Input distance command <0-40 em.>0 ")
scan_textbar(400,185,500,210),

outtextxy{100,260,"Input distance/loop  <0-2.5 em>0 );
scan_textbar(400,235,500,260);

outtextxy(100,300,"Input slope of floor <0-20 Deg>L] ");
scan_textbar(400,285,500,310);

rectangle(15,156,xx-156,335);

gotoxy(53,7);

scanf("%f",&w);

gotoxy(53,10);

scanf("%f",&a);



gotoxy(563,13);
scanf("%f", &s);
gotoxy(53,16);
scanf("%f",&D);
if(D>s) D=s;
x=D;

ifix>2.2) x=2.20;

else X=X
C=s/x;
E=C-(int)C;

if(E = 0) m=(int)C+1;
else m=C,
gotoxy{63,19);
scanf("%f", &Sl);

5=Sl;

if(S>20) S=20;

else S=5;

gen_comm()

{

int mm,nn,check,i,k,j;

float mi=0.7,mb=6.7,L1=18.0,Lb=27.0,
a1,b1,c1,0,n;sn,zf1,zb1,zb2,zf2,zb3,
Ls,a2,b2,c2,d2,e2,22,z,

int  nf2[10],nb2[10],J,L;

float nfl_real,tf2,nf2_real,n_realf,ww,
nb1_real,tb2,nb2_real,n_realb;

double Cf0,Cb0;
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fi=1:

if(E 1= 0) L=2;

for(J=1;J<=L;J++)

{

[*step1*/
S=S*pi/180;
mm=0;
do
{
iflJ==2) x=s-(m-1)*D;
O=(S+mm)*pi/180;
mn=mm*pi/180;
al=ml*sin(0)*LI/2+mb*sin(S)* LI* cos(mn)+ml*sin(S)*LI/2* cos(mn);
b1=mb*cos(S)*(Lb/2-LI*sin{mn))+ml*cos(S)* (Lb-LI/2*sin(mn));
cl=al-b1;
mm-++;
while(fabs(c1)>=1.0);
zf1=mm,
zb1=zf1;
[¥step2*/
Ls=x+Lb;
a2=zb1*pi/180;
nn=0;
do{
b2= nn*0.2*pi/180;
c2=pow{ (pow(Lb,2)}-pow(Ll,2)*pow( (cos(a2)-cos(b2)),2 )),0.5);
d2=LI*sin(b2)-LI*sin(a2);

e2=Ls-(c2+d2);
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nn++,

Iwhile(fabs(e2)>0.05);
22=(nn-1)*0.2;
7=180/pi*asin( (( cos(zf1*pi/180)-cos(z2*pi/180) }*LI/26) );
zf2=22+z;
zb3=zb1+z;
RF[0]= 0 ;RBI0]=0;
RF[1]=-zf1;RB[1]=-zb1;
RF[2]=-zf2;RB[2]=-2zb3;
RF[3]= zb3;RB[3]= zf2;
RF[4]= zf1;RB[4]=2zb1;
RF[5]= 0; RBI[5]=0;
for(i=1;i<=b;i++)
{
tf1=w/a; A=2*0.5*a*powl(tf1,2);
th1=tf1;
if(fabs(RF[i-RF[i-11)>A)
{
nf1_real=tf1/T;
if(RF[i]<RF[i-1])

{
Cf1ali]=RF[i-11-0.5*a*pow(tf1,2);
Cf2ali]=RF[il+pow(w,2)/2/a;

}

if(RFi]>RF[i-1])

{

Cf1ali]=RF[i-11+0.6*a*pow(tf1,2);
Cf2alil=RFlil-pow(w,2)/2/a;
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}
if(fabs(RF[i}-RF[i-1])<=A)
{
if(RFil<RF[i-11)
{ Cfialil= RF[i-1}-fabs(RF[il-RF[i-11)*0.5;
Cf2alil= Cf1alil;
}
if(RF[i]>RF[i-1])
{
Cf1ali]=RF[i-1]+ fabs(RFI[il-RF[i-1])*0.5;
Cf2alil=Cf1alil;
}
if(RF[i]==RF[i-1])
{-
Cf1alil=RF[i-1];
Cf2alil=Cf1alil;
}
tf1=pow(2/a*fabs(Cf1alil-RF[i-1]),0.5);
nf1_real=tf1/T;
}
if(fabs(RBIi-RBli-11)>A)
{
nb1_real=tb1/T;
if(RB[i]<RBI[i-1])
{
Ch1alil=RBI[i-1]-0.6*a*pow(tf1,2);
Cb2ali]=RBlil+pow(w,2)/2/a;
}
if(RB[i]>RB[i-1])
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Cb1ali]=RB[i-1]+0.56*a*pow(tf1,2);
Cb2alil=RBlil-powi(w,2)/2/a;

if(fabs(RB[il-RB[i-1))<=A)

{

if(RB[il<RBIi-11)

{
Cb1alil=RBI[i-1}-fabs(RB[i-1]-RBI[i) *0.5;
Cb2ali]=Cb1alil;

}

if(RB[iI>RBI[i-1])

{
Cb1ali]=RB[i-1]+fabs(RBIi-1]-RB[i})*0.5;
Ch2alil=Cb1ali;

}

if(RBli]==RBI[i-1])

{
Cb1ali]=RBI[i-11;
Ch2ali]=Cb1alil;

}
tb1=pow(2/a*fabs(Cb1alil-RBI[i-1]),0.5);
nb1_real=th1/T;

}

nf1[i]l=nf1_real,

if(nf1_real-(int)nf1_real>0.6) nf1[il=nf1_real+1;
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nb1[il=nb1_real,
if(nb1_real-(intinb1_real>0.5) nb1[i]=nb]1 _real+1,
nb1[il=nb1_real
tf2=fabs((Cf2alil-Cf1alil)/w);
th2=fabs((Cb2alil-Cb1alil)/w);
nf2_real=tf2/T;
nb2_real=th2/T;
nf2[i]=nf2_real,
if(nf2_real-(int)nf2_real>0.5) nf2_real=nf2_real+1;
nb2[i]=nb2_real;
if(nb2_real-(int)nb2_real>0.5) nb2_real=nb2_real+1;
n_realf=2*nf1_real+nf2_real .
n_realb=2*nb1_real+nb2_real;
if(fabs(RF[i}-RF[i-1)>A) nflil=n_realf;
else { nflil=2*nf1li]; n_realf=nflil; nf2[il=nf1{il;}
if(fabs(RBIil-RB[i-1)>A) nblil=n_realb;
else { nb[i]=2*nb1[i]; n_realb=nblil; nb2[il=nb1[i];}
if (n_realf-nfli] >= 0.5) nfli] = nfi]+1;
if (n_réalb-nb[i] >= 0.5) nbli] = nblil+1;
if (nflil==0) nffi] = 1;
if (nb[il==0) nbli] = 1;
if (nflil<nbli]) Plil=nblil;
else Plil=nf(il;
if{d==1)
{

iffi==1)

{

if( (outfile=fopen("d:\step11.xls","W"))==NULLK

printf("Cannot open file\n");



exit(0);
}
}
ifi==2)
{
outfile=fopen("d:\step12.xIs","w");
}
if(i==3)
{
outfile=fopen("d:\step13.xls","w");
}
if(i==4) )
{
outfile=fopen("d:\step14 xIs","W");
}
if(i==b)
{
outfile=fopen("d:\step15.xls","W");
}
}
ifJ==2)
{
thi==1)
{
outfile=fopen("d:\step21 xIs","w");
}
if(i==2)
{

outfile=fopen("d:\step22.xIs","W");
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}
if(i==3)
{
outfile=fopen("d:\step23.xls","w"),
}
if(i==4)
{
outfile=fopen("d:\step24 xls","W");
}
if(i==5)
{
outfile=fopen("d:\step25.xIs","W");
}
}
k=1;

while(k<=PIi])
{
if(fabs(RF[i-RF[i-11)>A)
{
if(k<=nf1{il)

{
if(RF[i]<RF[i-1)) Rf=RF[i-1]-0.5*a*pow(k*T,2);
if(RF{i]>RF[i-1]) Rf=RF[i-1]+0.5*a*pow(k*T,2);
if(k==nf1[i)  Cflalil=Rf;

} ;

if(nf1lil<k && k<=nflilnf1{i])

{

if(RF[il<RF[i-1]) Rf=Cf1a[il-w*(k-nf1[i)*T;

if(RF[i1>RFIi-1]) Rf=Cf1alil+w* (k-nf1[i)*T;
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if(k==nf[i]-nf1[i))Cf2alil=Rf;
}
if(nflil-nf1lil<k && k<=nfli})

{
if(RF[i]<RFli-1)Rf=Cf2alil-w* (k-nflil+nf1[i) *T+0.6*a*pow((k- -
nflil+nf1[i)*T,2);
if(RF[i]>RFli-1)Rf=Cf2alil+w* (k-nflil+nf1[i) *T-0.6*a*pow((k-
nflil+nf1[i*T,2);
}
if(k>=nflil) Rf=RFIil;
}
iffabs(RF(il-RF[i-1]) <=A)
{
if(k<=nf1{il)
{
if(RF[i]<RF[i-1‘]) Rf=RF[i-1]-0.56*a*pow(k*T,2);
if(RF[i]>RF[i-1)) Rf=RF[i-1]+0.5*a*pow(k*T,2);
iftk==nf1i)  Cflalil=Rf;
}
if(nf1lil<k && k<=nflil)
{
ww=a*tf1;
if(RFlil<RFli-1)Rf=Cf1alil-ww* (k-nf1 [iN*T+0.6*a*powl(k-nf1[i)*T,2);
if(RF[i]>RF[i-1)Rf=Cf1alil+ww* (k-nf1 [iN*T-0.5%a*pow((k-nf1[iN*T,2),
}
}
if(fabs(RBIil-RBIi-11)>A)
{

if(k<=nb1[il)
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{
if(RB[i]<RB[i-1]) Rb=RBI[i-1]-0.6*a*pow(k*T,2);
if(RB[i]>RBli-1]) Rb=RBI[i-11+0.56*a*pow(k*T,2);
if(k==nb1[il)  Cblalil=Rb;

}

if(nb1lil<k && k<=nblil-nb1[il )

{
if(RBli]<RBIi-1]) Rb=Cb1alil-w*(k-nb1[i)*T;
if(RBli1>RBIi-1]) Rb=Cb1alil+w*(k-nb1[i)*T;
if(k::nb[i]—r;b1 [i)Cb2ali]=Rb;

}

if(nblil-nb1[i]<k && k<=nbli})

{
if(RB[i]<RBIli-1))Rb=Cb2alilw* (k-nblil+nb1[i) *T+0.6*a* pow((k-
nb[il+nb1[i)*T,2);
if(RBIi]>RBIi-1))Rb=Cb2alil+w* (k-nblil+nb1[i) *T-0.6*a* pow((k-
nblil+nb1{i))*T,2);
}
}
if(fabs(RBIil-RBli-11)<=A)
{
if(k<=nb1{il)
{
if(RB[i]<RBIi-1]) Rb=RBI[i-1]-0.56*a*pow(k*T,2);
if(RB[i]>RB[i-1]) Rb=RB[i-1]+0.6*a*pow(k*T,2);
ifk==nb1[i)  Cblali]=Rb;
}

if(nb1lil<k && k<=nblil)
{
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ww=a*tb1;

if(RBIil<RBIi-1)Rb=Cb1alil-ww* (k-nb1[i)*T+0.5*a*pow( (k-
nb1[i)*T,2);

if(RBIi]>RBIi-1)Rb=Cb1alil+ww*(k-nb1[i)) *T-0.5*a*pow( (k-
nb1[i})*T,2);

fprintfloutfile,"%6.5M\t %6.5f\n", Rf,Rb);
K++;

}

if((check=fclose(outfile))!=0)

{
printf("Error on output file close”);
exit(1);

}

setcolor(LIGHTRED);

rectangle(135,350,465,380);

setfillstyle(SOLID_FILL,BLUE);

bar(135,350,166+60%*i,380);

if(i==5)

{
sound(300);
outtextxy(186,365,"GENERATE FILE ARE COMPLETED");
delay(800);

nosound();

TI=F:
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outfile=fopen("d:\comm xls","w");

for(j=1;j<=1;j++)

{

fprintf(outfile,"%5.3\t% 5d\t%5.3\t%5.3A\t%5.3f\t %5.3At%5.3\t%5.4f\n",D,m,E,s,S,w,3,

T
}
if((check=fclose(outfile))!=0)
{

printf("Error on output file close’);

exit(1);
}
fid==1} )
{

outfile=fopen("d:\loop1.xIs","wW"),
for(j=1;j<=5;j++)
{
fprintfloutfile, %5d\t%5.3f\t%5.3f\n", Pljl, RF[jl, RBI});
}
if((check=fclose(outfile))!=0)

{
printf("Error on output file close’);
exit(1);
}
}
ifJ==2)
{

outfile=fopen('d:\loop2.xIs","w");

for(j=1;j<=b;j++)
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{
fprintf(outfile,"%5d\t %5.3f\t%5.3An", P[jl,RFIjl, RBI]);
}
if((check=fclose(outfile))!=0)
{
printf("Error on output file close”);
exit(1);
}

}
outtextxy(185,400,"PRESS ANY KEY GOTO GEN. MENU');

getchl);

J* xxxxxxxxxxxGeneral graphics func KAREXKERKEHKAKKEXEXKRRR ]
scan_textbar(int x_It1,int y_It1,int x_Ib2,int y_Ib2)
{

setcolor(LIGHTBLUE),

rectangle(x_It1,y_It1,x_lb2,y_Ib2);

seftfillstyle(1,BLACK);

floodfillx_It1+1,y_It1+1,LIGHTBLUE);

setlinestyle(0,0xffff,3);

rectangle(x_It1,y_It1,x_lb2,y_lb2);

setlinestyle(0,0xffff,1);

setcolor(RED);

shadolint a,int b,int ¢,int d)



setfillstyle(1,LIGHTBLUE);
bar(a+8,b+8,c+8,d+8);
setfillstyle(1,LIGHTCYAN),
bar(a,b,c,d);
setcolor(BLACK);
rectangle(a,b,c,d);
setfillstyle(1,LIGHTGRAY);
return;
}
ground(int x_t,int y_t,int x_L,int y_h
{
setfillstyle(1, WHITE),
bar(x_t,y_tx_Ly_l);
setcolor(LIGHTCYAN);
setfillstyle(1,LIGHTGRAY);
setcolor(BLACK);
}
remark(char word[80],int x1,int y1,int x2,int y2)
{
setfillstyle(1,LIGHTCYAN),
bar(x1,y1,x2,y2);
setcolor(BLACK);
gprintf(x1+10,y1+5,"%.60s",word);
setcolor(LIGHTBLUE);
}
gprintf( int xloc, int yloc, char *fmt, ... )
{

va_list argptr;
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char str[1560];

int cnt;

va_start( argptr, format ); -

cnt = vsprintf( str, fmt, argptr );
outtextxy( xloc,yloc, str );

yloc += textheight( "H" ) + 2
va_end( argptr );

return( cnt );

7. mummmﬂmmua’l,wzwmLmumﬂmﬂmmuwm@a
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#include <graphics.h>

#include <math.h>
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#include <stdio.h>
#include <dos.h>
#define pi 3.142857
FILE *infile,*outfile;
int xx,yy,ST,SP;

float w,a,T;
main()

int driver,mode;
driver=DETECT;
initgraph(&driver,&mode,");

' xx=getmaxx();
yy=getmaxy();
setcolor(LIGHTCYAN);
sim_robol);

}

sim_commi)

{
ground(0,0,xx,275);
setcolor(RED),

rectangle(15,15,xx-16,260);

outtextxy(170,60,"STEP OF A MOTION HAVE ALL 6 STEP’);
outtextxy(100,115,"Input step no. for start pos.[] )
scan_textbar(400,105,500,135);

outtextxy(100,165,"Input step no. for stop pos.[] *);
scan_textbar(400,153,500,182);

setcolor(LIGHTRED);



}

sim_robof)

{

int M,N,K,loop,r:TO,m,x1=150,y1=430,P[7];

float Rf1,Rb1,Rff,Rbb,RFO[71,RBO[7]1,x11,y11,LI1=90,Lb=135,zeta,

gprintf(430,120,"%2d",ST);
gprintf(430,168,"%2d",SP);
setlinestyle(0,0xffff,3);
rectangle(0,0,xx,275);
rectangle(0,280,xx,yy);

setlinestyle(0,0xffff, 1);

X[201,Y[20],LX[10],LY[10],1,Xg,zf, Zf,zb,Zb,Rfc, Rfs,Rbc,Rbs,

x,D,E,s,S,RF[7],RB[7],Rf,Rb;
infile=fopen("d:\simstep.xls","r");
fseeklinfile,0,0);
while(!feof(infile))
{
if(ferror(infile))
{
printf(10,10,"File error \n");
exit(1);

}

fscanflinfile,"%d\t%d\n", &ST,&SP),

}

fcloselinfile);

sim_comm();
infile=fopen("d:\comm.xls","r");
fseek(infile,0,0);

while(!feof(infile))
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{
if(ferror(infile))
{
printf(10,10,"File error \n");
exit(1);
}
fsca nf(im‘ile,"%f\t%d\t9’of\t9’of\t9’of\t9’of\t%f\t°/of\n",&D,&m,&E,&s,&S,&w,&a,&T);
}

fclosefinfile);
setcolor(LIGHTBLUE),
outtextxy(180,450,"THIS SCALE IS 1 CM./DIVISION’);
line(x1,y1+7,x1+350,y1+7); )
line(x1,y1+7,x1+350,y1+7-360*tan(S));
K=1;
while(K<=70)
{
line(x1+K*5*cos(S),y1+7-K*6*sin(S) \
1 +K*B*cos(S)+4*sin(S),y1+7-K*5*sin(S)+4*cos(S));
K++;
}
setlinestyle(4,0xffff,1);
x=D;
Xg=x*b;
M=m;
if(M>=10) M=10;
loop=1;
while(loop<=M)
{
if(E==0)



infile=fopen("d:Noop1.xIs","r");
fseeklinfile,0,0);
N=1;

while(!feof(infile))

{
if(ferror(infile))
{
gprintf(10,100,"File error \n");
exit(1);
}
fscanf(infile," % d\t %\t %f\n", &P[N], &RFIN],&RBIN]);
N++;
}

fcloselinfile);
}
ifloop==M && E!=0)
{
infile=fopen("d:\Noop2.xIs","r");
fseek(infile,0,0);
N=1;
while(!feof(infile))
{
if(ferror(infile))
{
gprintf(10,100,"File error \n’);
exit(1);
}
fscanf(infile," % d\t %M\t %A\n", &P[N], &RFIN], &RB[N]);
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N++;
}
fcloselinfile);
}
x11=x14+Xg*cos(S)*(loop-1);
y11=y1-Xg*sin(S)*({loop-1);
for(l=ST;l<=SP:l++)
{
ffl==1)
{
infile=fopen("d:\step11.xls","r");
if(E!=0 && loop==M) {imiile:fopen(“d:\step21 XIs","r");}
fseekl(infile,0,0);
N=1;
while(!feof(infile))
{
if(ferror(infile))
{
gprintf(10,100,"File error \n%);
exit(1);
}
fscanflinfile,"%f\t%f\n", &Rf,&Rb);
Rf=Rf*pi/180; Rb=Rb*pi/180;
'Rf1=fabs(Rf); Rb1=fabs(Rb);
X[11=x11; Y[1]=y11;
X[2]=X[1}-LI*sin(Rf1); Y[2]=Y[1]-LI*cos(Rf1);
Zf=atan((X[11-XI2DAY[11Y12]); Zf=zE*180/pi;
zb=zt: Zb=7f;

Rfs=r*sin(zf); Rfc=r*cos(zf);



Rbs=r*sin(zb); Rbc=r*cos(zb);

X[3]=X[11+Lb-LI*sin(Rb1);Y[3]=Y[1]-LI*cos(Rb1);

X[41=X[11+Lb;Y[4]=Y1];
LX[1]=X[2}-Rfc;LY[1]=Y[2]+Rfs;
LX[2]=X[1}-Rfs-Rfc;
LY[2]=Y[1}-Rfc+Rfs;
LX[3]=X[2]+Rfc;LY[3]=Y[2]-Rfs;
LX[4]=X[1]-Rfs+Rfc;
LY[4]=Y[1]-Rfc-Rfs;
LX[5]=XI3}-Rfc;LY[6]=Y[3]+Rfs;
LX[6]=X[4]-Rfs-Rfc;
LY[6]=Y[4]-Rfc+Rfs; .

LX[71=X[3]+Rfc;

LY[7]=Y[3]-Rfs;

LX[8]=X[4]-Rfs+Rfc;
LY[8]=Y[4]-Rfc-Rfs;
seffillstyle(SOLID_FILL,BLACK);
bar(x11-100,y11-120,x11+250,y11+5);
setcolor(LIGHTCYAN);
arc(X[2],Y[2],2f,180+Zf,1);

arc(X[11-Rfs, Y[1]-Rfc,180+Zf,360+Zf,1);
line(LX[1],LY[1],LX[2],LY(2]);
line(LX[31,LY[3],LX[4],LY[4]);
arc(X[3],Y[3],Zb,180+Zb,r);
arc(X[4]-Rfs,Y[4]-Rfc,180+Zf,360+Zf,1);
Iine(LX[é],LYIS], LX[6],LY[6]);
line(LX[71,LY([7],LXI8LLYI8]);
rectangle(X[2}-15,Y[2}-15,X[3]+15,Y(3]+15);

N++;
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if(l==2)

{

}

fclosel(infile);

infile=fopen("d:\step12.xls","r");

if(E!=0 && loop==M)

{

}

infile=fopen("d:\step22.xls","r");

fseek(infile,0,0);

N=1;

while(lfeof(infile))

{

if(ferrorl(infile))

{
gprintf(10,100,"File error \n");
exit(1);

}

fscanf(infile,"%f\t%f\n", &Rf,&Rb);
Rf=Rf*pi/180; Rb=Rb*pi/180;
Rf1=fabs(Rf); Rb1=fabs(Rb);
zeta=asin( LI/Lb*(cos(Rb1 );cos(Rf1 N);

X[11=x11-LI*sin(Rb1);Y[1]=y11-LI*cos(Rb1);

X[2]=X[11+Lb*cos(zeta); Y[2]=Y[1]+Lb*sin(zeta);

X[3]=X[2]+LI*sin(Rf1); Y[3]=y11,;

zf=a‘tan((x1 1-XO DAy 11-Y[1]);Zf=zF*180/pi;
zb=atan((X[3I-X[2D/(YI31-Y[2]));Zb=2zb*180/pi;
Rfs=r*sin(zf); Rfc=r*cos(zf),
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Rbs=r*sin(zb); Rbc=r*cos(zb);
X[4]=x11-Rfs;Y[4]=y11-Rfc;
X[6]=X[1}-Rfc;Y[5]=Y[1]+Rfs;
X[6]=x11-Rfs-Rfc;
Y[6]=y11-Rfc+Rfs;
X[71=X[11+Rfc;Y[7]=Y[1]-Rfs;
X[8]=x11-Rfs+Rfc;

Y[8]=y11-Rfc-Rfs;

X[9]=X[1]+Lb*cos(zeta);Y[9]=Y[1]+Lb*sin(zeta);

| X[10]=X[3}-Rbs; Y[10]=Y[3}-Rbc;
X[11]=X[2)-Rbc;Y[11]=Y[2]+Rbs;
X[12]=X[3]-Rbs-Rbc;
Y[12]=Y[3}-Rbc+Rbs;
X[13]=X[2]+Rbc;Y[13]=Y[2]-Rbs;
X[14]1=X[3}-Rbs+Rbc;
Y[14]=Y[3]-Rbc-Rbs;
seffillstyle(SOLID_FILL,BLACK);
bar(x11-100,y11-120,x11+250,y11+5);
setcolor(LIGHTCYAN),
arc(X[1],Y[1],Zf,180+Zf,1);
arc(X[4],Y[4],180+Zf,360+Zf,1);
line(X[5],Y[5],X[6],Y[6]);
line(X[7],Y[71,XI81.Y[8]);
arc(X[9],Y191,Zb,180+Zb,1);
arc(X[10],Y[10],180+Zb,360+Zb,1);
line(X[111,Y[111L,X112],Y[12]);
line(X[13],Y[13],X[14],Y[14]);
X[156]=X[1}-15*cos(zeta)+16*sin(zeta);

Y[15]=Y[1]-16*(sin(zeta)+cos(zeta));
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X[16]=X[15}-30%sin(zeta); Y[16]=Y[16]+30*cos(zeta);

X[171=X[15]+(Lb+30) *cos(zeta);Y[17]=Y[1 5]+(Lb+30)*sin(zeta);
X[18]=X[16]+(Lb+30)*cos(zeta);Y[18]=Y[1 6]+(Lb+30)*sin(zeta);

line(X[15],Y[16],X[16],Y[16]);
line(X[16],Y[16],X[18],Y[18]),
line(X[18],Y[181,X[171,Y[17]),
line(X[171,Y[171,X[151,Y[15]);

N++;
}
fcloselinfile);
}
if(1==3)
{

infile=fopen(‘d:\step13.xIs","r");
if(El=0 && loop==M) |
{
infile=fopen("d:\step23.xls","r");
}
fseek(infile,0,0);
N=1;
while(!feof(infile))
{
if(ferror(infile))
{
gprintf(10,100,"File error \n");
exit(1);
}
fscanf(infile,"%\t%f\n", &Rf,&Rb);

Rf=Rf*pi/180; Rb=Rb*pi/180;
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Rf1=fabs(Rf); Rb1=fabs(Rb);

zeta=asin( LI/Lb*(cos(Rb)-cos(Rf)));
setcolor(LIGHTCYAN),
X[11=x11+LI*sin(Rb);Y[1]=y11-LI*cos(Rb);
X[2]=X[1]+Lb*cos(zeta); Y[2]=Y[1 ]+Lb*sin(zeta);
X[3]=X[2}-LI*sin(Rf),
zb=atan((x11-X[1)/ly11-Y[1])); Zb=2b*180/pi;
Z=atan((X[3-X[2)/y11-Y[2])); Zf=zf*180/pi;
Rfs=r*sin(zf);Rfc=r*cos(zf);
Rbs=r*sin(zb);Rbc=r*cos(zb);

X[4]=x11-Rbs; Y[4]=y11-Rbc;
setfillstyle(SOLlD_FlL.L,BLACK);
bar(x11-100,y11-120,x11+250,y11+5);
arc(X[1,Y[1],Zb,180+Zb,1);
arc(X[4],Y[4],180+Zb,360+Zb,1);
line(X[1]-Rbc,Y[1]+Rbs,x11-Rbs-Rbc,y1 1-Rbc+Rbs);
|ine(X[1‘]+Rbc,Y[1 JFRbs,x11-Rbs+Rbc,y11-Rbc-Rbs);
arc(X[2],Y[2],2f,180+Zf,n);
arc(X[3}-Rfs,y11-Rfc,180+Zf,360+Zf,1);
line(X[2)-Rfc,YI2]+Rfs, X[3}-Rfs-Rfc,y11-Rfc+Rfs);
line(X[2]+Rfc,Y[2]-Rfs X[3]-Rfs+Rfc,y1 1-Rfc-Rfs);
X[6]=X[1]-16*cos(zeta)+15*sin(zeta);
Y[5]=Y[1]-15*(sin(zeta)+cos(zeta));
X[6]=X[5]-30%sin(zeta); Y[6]=Y[6]+30*cos(zeta);
X[7)=X[5]+(Lb+30)*cos(zeta);
Y[7]=Y[5]+(Lb+30)*sin(zeta);
X[8]=X[6]+(Lb+30)*cos(zeta),
Y[8]=Y[6]+(Lb+30)*sin(zeta);

line(X[5],Y[5],XI6],Y[6]);



}

line(X[6],Y[6],X[8],Y[8]);
line(X[8],YI8LX[71Y[7);
line(X[7],Y[71,X[6],Y5]);
N++;

}

fcloselinfile);

if(1==4)

{

infile:fopén("d:\stem4.x|s","r");
if(El=0 && loop==M)
{ -
infile=fopen("d:\step24 xIs","r");
}
fseek(infile,0,0);
N=1:
while(!feof(infile))
{
ifferror(infile))
{
gprintf(10,100,"File error \n");
exit(1);
}
fscanf(infile,"%f\t%f\n", &Rf,&Rb);
Rf=Rf*pi/180; Rb=Rb*pi/180;
zeta=asin{Ll/Lb*(cos(Rf)-cos(Rb)));
setcolor(LIGHTCYAN);
X[1]=x11 +Lb+Xg+LI*sin(Rf)—Lb*cos(zeta)—Ll*sin(Rb);

Y[1l=y11-r;
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X[2]=X[1]+LI*sin(Rb); Y[2]=y11-LI*cos(Rb);
X[3]=X[2]+Lb*cos(zeta);
Y[3]=Y[2}-Lb*sin(zeta);

X[4]=x11+Lb+Xg;
ZF=atan((X[3-X[4])/(y11-Y[3]);Zf=zf*180/pi;
zZb=atan((X[2}-X[1)/ly11-Y[2]));Zb=2b*180/pi;
Rfs=r*sin(zf);Rfc=r*cos(zf);
Rbs=r*sin(zb);Rbc=r*cos(zb),
X[5]=X[11+Rbs;Y[6]=y11-Rbc;
X[6]=X[4]+Rfs;Y[6]=y11-Rfc;
seffillstyle(SOLID_FILL,BLACK);
bar(x11-100,y11-1 20:x1 1+250,y11+5);
arc(X[2],Y[2],360-Zb,180-Zb,1);
arc(X[5],Y[5],180-Zb,360-Zb,);

line(X[2]-Rbc, Y[2]-Rbs, X[11+Rbs-Rbc,y11-Rbec-Rbs);

line(X[2]+Rbc, Y[2]+Rbs,X[1]+Rbs+Rbc,y11-Rbc+Rbs);

arc(X[3],Y[3],360-Zf,180-Zf,1);

arc(X[6],Y[61,180-Zf,360-Zf,1);

line(X[3]-Rfc, Y[3]-Rfs, X[4]1+Rfs-Rfc,y11-Rfc-Rfs);

line(X[3]+Rfc,Y[3]+Rfs X[4]+Rfs+Rfc,y11-Rfc+Rfs);

X[7)=X[2)-15*cos(zeta)+15*sin(zeta);

Y[7]=Y[2]+15*(sin(zeta)-cos(zeta));

X[8]=X[7]+30%sin(zeta); Y[8]=Y[7]+30*cos(zeta);

X[9]1=X[7]+(Lb+30)*cos(zeta);
Y[9]=Y[7}-Lb+30)*sin(zeta);
X[10]=X[8]+(Lb+30)*cos(zeta);
Y[10]=Y[8]-{Lb+30)*sin(zeta);
line(X[71,Y17],X[8],Y[8));
line(X[8],Y[8],X[10],Y[101);
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}

if(I==5)

{

}

line(X[10],Y[101,XI91,YI9));
line(X[91, YISLXI71,Y[7]);

N++;

fclosel(infile);

infile=fopen("d:\step16.xIs","r");

if(E1=0) infile:fopen("d:\step26.xlé“,"r");

fseek(infile,0,0);

N=1;

while(lfeof{infile))

{

if(ferror(infile))

{
gprintf(10,100,"File error \n');
exit(1);

}

fscanf(infile," %M\t %A\n", &Rf,&Rb);
Rf=Rf*pi/180; Rb=Rb*pi/180;
setcolor(LIGHTCYAN);
setfillstyle(SOLID_FILL,BLACK);
bar{x11-100,y11-120,x11+2560,y11+5);
X[1]=x11+Xg;

X[2]=X[1]+LI*sin(Rb); Y[2]=y11-LI*cos(Rb);

X[3]=x11+Lb+Xg+LI*sin(Rf);Y[3]=y11-LI*cos(Rf);

X[4]=X[3}-LI*sin(Rf);
ZF=atan((X[3FX[4)/ty11-Y[3]); Zf=zf*180/pi;
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Zb=atan((X[2]-X[11)/{y11-Y[2]));Zb=2zb*180/pi;
Rfs=r*sin(zf);Rfc=r*cos(zf);
Rbs=r*sin(zb);Rbc=r*cos(zb);
X[6]=X[11+Rbs;Y[6]=y11-Rbc;
X[6]=X[4]+Rfs;Y[6]=y11-Rfc;
arc(X[Z],Y[21,360—Zb,1 80-Zb,1);
arc(X[6],Y[5],180-Zb,360-Zb,1);
line(X[2]-Rbc, Y[2]-Rbs,X[1]+Rbs-Rbc,y11-Rbc-Rbs);
line(X[2]+Rbc,Y[2]+Rbs, X[1]+Rbs+Rbc,y11-Rbc+Rbs);
arc(X[3],Y[3],360-Zf,180-Zf,1);
arc(X[6],Y[6],180-Zf,360-Zf,1);
Iine(X[3]—Rfc,Y[3]—Rfs:X[4]+ Rfs-Rfc,y11-Rfc-Rfs);
line(X[3]+Rfc,Y[3]+Rfs, X[41+Rfs+Rfc,y11-Rfc+Rfs);
rectangle(X[2]-15,Y[2]-16,X[3]+15,Y[3]+15);
N++;

}

fcloselinfile);

}
loop++;
}
sound{200);
delay(200);
nosoundf);
setcolor(LIGHTRED),
outtextxy(180,250,"PLEASE PRESS ANY KEY GOTO GEN MENU);
getch);

setlinestyle(0,0xffff,1);
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gprintf( int xloc, int yloc, char *fmt, ...
{
va_list argptr;
char str[160];
int cnt;
va_start( argptr, format );
cnt = vsprintf( str, fmt, argptr );
outtextxy( xloc,yloc, str);
yloc += textheight( "H" ) + 2;
va_end({ argptr }); -
return( cnt );
} .
scan_textbar{int x_It1,int y_It1,int x_lb2,int y_Ib2)
{
setcolor(LIGHTBLUE);
rectangle(x_It1,y_It1,x_lb2,y_Ib2);
setfillstyle(1,BLACK);
floodfill(x_It1+1,y_It1+1,LIGHTBLUE),
setlinestyle(0,0xffff,3);
rectangle(x_It1,y_It1,x_lIb2,y_Ib2);
setlinestyle(0,0xffff,1);
setcolor(RED);
}
ground(int x_t,int y_t,int x_lLint y_l)
{
setfillstyle(1,WHITE);
bar(x_t,y_t.x_Ly_l);
setcolor(LIGHTCYAN);

seftfillstyle(1,LIGHTGRAY);
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setcolor(BLACK);
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Control_posl)
{

int ii, K;

unsigned bit;
infile=fopen("d:\comm xls","r");
fseek(infile,0,0);
while(!feof(infile))
{

if(ferror(infile))
{
printf(10,10,"File error \n");

exit(1);



131

}
fscanf(infile," %R\t% A\t %\t %t %At %t %t %fin”, &D, &m, &E, &s, &S, &w, &a,&T);

fclosef(infile);

count=T*2*pow(10,6);

clearviewport();
ground(15,130,xx-16,260);

setcolor(RED);

setlinestyle(0,0xffff,3);
rectangle(15,130,xx-156,260);
setlinestyle(0,0xffff,1);

setcolor(BLUE);

write_pos(vf=0,vb=0);
outtextxy(100,150,"When Are you ready? PRESS ANY KEY GOTO HOME POSITION!);
getch();

dat[O]=base;

dat[11=2;

dat[2]=1;

fun=0;

er=pcl812(fun,&dat[0],&ary1[0], &ary2[0]);
goto_home();

decode_reset(bit=1);

delay(20);

decode_reset(bit=0);

sound(300);

rectangle(90,190,540,245);
setcolor(MAGENTA),
outtextxy(186,200,"PRESS ANY KEY START A MOTION"),

delay(800);
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nosoundf);
outtextxy(100,230,"DO YOU WANT A FEEDBACK POSITION FILE RECORDING (Y/N):");
y=getch();
ctrl_text(),
setcolor(LIGHTBLUE),
outtextxy(180,450,"THIS SCALE IS 1 CM./DIVISIONY);
line(x1,y1+7,x1+350,y1+7);
line(x1,y1+7,x1+360,y1+7-350*tan(S));
K=t;
while(K<=70)
{
line(x1+K*5*cos(S),y1 +7—K*5*sin(8),\.
%1 +K*6*cos(S)+4*sin(S),y1+7-K*6*sin(S)+4*cos(S));
K++;
}
for(J=1;J<=m;J++)
{
=i
while(i<=5)
{
ctrl_pos),
i++;
}
goto_homel);
decode_reset(bit=1);
delay(20);
decode_reset(bit=0);
}

write_pos(vf=0,vb=0);



}

setcolor(LIGHTRED);
outtextxy(150,250,"END OF CONTROL PRESS ANY KEY GOTO MAIN MENUY);
sound(300);
delay(800);
nosound();

getchl);

ctrl_text()

{

}

ground(0,0,xx,275);
setcolor(RED);

rectangle(15,15,xx-15,260);

outtextxy(190, 30,"NO. step of command Loop(n):");

outtextxy(220,80,"FRONT LEG');

outtextxy(420,80,"BEHIND LEG");

outtextxy( 50,110,"Com Ref Pos. 1%

outtextxy( 50,145,"Actual Pos. El=
setlinestyle(0,0xffff,3);
rectangle(0,0,xx,275),
rectangle(0,280,xx,yy);

setlinestyle(0,0xffff,1);

state_home() /* *check cw. or cew.* */

{

int

int

HI,LO,n Kk;
ch,start,stp;
outportb{base+11,0);
start=0;

stp=3;
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inportb(base+4);

n=3;

ch=start;

for (kk=0;kk<=n;kk++)

{
outportb(base+10,ch);
outportb(base+11,6);
do
{

Hl=inportb(base+5);
jwhile (HI > 16 );
LO=inportb(base+4); .
data[kk]=(HI*256+L0-2048)*5.0/2048;
if (stp > ch)
ch=ch+1;
else
ch=start;

}

outportb(base+11,0);

read_pos(double *cf,double *cb) /* Encode. 800 Pulsefrev */

{
int LO1,HI1,LO2,HI2;

outportb(0x1b3, 0x9b); /* initial 8255 #1 mode15 */
LO1=0xff&inportb{0x1b0);
LO2=0xff&inportb(0x1b1);

outportb(0x1b7,0x9b); /* initial 8265 #2 mode15 A
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HI1=0xf&inportb(0x1b4);
HI2=0xf&inportb(0x1b5);
*cf=(LO1+HI1*266)* .45;
if(*cf>1360) {*cf=*cf-1842.75}}
*chb=(LO2+HI2*256)*.45;
if(*cb>1350) {*cb=%*cb-1842.75;}

}

write_pos(double VF,double VB)

{ ,
int  LO1,HIT,LO2,HIZ;

double X1,X2;

X1=VF*2048/2.5+2048;
HI1=X1/256;
LO1=X1-(HI1*2566);
X2=VB*2048/2.5+2048,;
HI2=X2/256;
LO2=X2-(HI2*2566);
outportb(base+4,L0O1);
outportb(base+5,HI1);
outportb(base+6,L02);
outportb(base+7,HI2);
}
decode_reset{unsigned bit)
{
int dat[5],ary1[6],ary2[5],y;
int er,fun;
fun=21,

dat[1]=bit/256;



dat[0]=bit-dat[1]*266;
er=pcl812 (fun,&dat[0], &ary1 (0], &ary2[0]);
}
[F RXRREXXRREXXXRRERRXATES X GUD meENU CONTRO
Ctrl_menu()
{
shado(380,275,580,335);
if(e>2){e=1,ee=0;}
ifle<1){e=2,ee=30;}
bar(380,275+ee,5680,306+ee);
setfillstyle(1,YELLOW),
bar(380,275+ee,580,306+ee);
setcolor(LIGHTMAGENTA);
rectangle(380,275+ee,580,305+¢e);
setcolor(BLACK); )
- setfillstyle(1, WHITE);
outtextxy(415,290," CONTROL POSITION);
outtextxy(415,320," QUIT TO MAIN MENU");
}
jx *xxxxxxxxxxxGeneral graphics func XEXKEEEKKK KR
scan_textbar(int x_It1,int y_It1,int x_Ib2,int y_Ib2)
{
setcolor(LIGHTBLUE);
rectangle(x_It1,y_It1,x_lb2,y_Ib2);
seffillstyle(1,BLACK); =~
floodfill(x_It1+1,y_It1+1,LIGHTBLUE);
setlinestyle(0,0xffff,3);
rectangle(x_It1,y_It1,x_lb2,y_Ib2);

setlinestyle(0,0xffff,1);

L EXRREXEXEXRX XX ERRERXRXRRN */

***********/
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setcolor(RED);
}
shadolint a,int b,int c,int d)
{
seffillstyle(1,LIGHTBLUE);
bar(a+8,b+8,c+8,d+8);
seffillstyle(1,LIGHTCYAN);
bar(a,b,c,d);
setcolor(BLACK);
rectangle(a,b,c,d);
seffillstyle(1,LIGHTGRAY);
return;
}
ground(int x_t,int y_t,int x_l,int y_)
{
setfillstyle(1,WHITE);
bar(x_t,y_t.x_Ly_l);
setcolor(LIGHTCYAN);
seffillstyle(1,LIGHTGRAY),
setcolor(BLACK);
}
remark(char word[80],int x1,int y1,int x2,int y2)
{
setfillstyle(1,LIGHTCYAN);
bar(x1,y1,x2,y2);
setcolor(BLACK),
gprintf(x1+10,y1+5,"%.60s", word);

setcolor{LIGHTBLUE);
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gprintf( int xloc, int yloc, char *fmt, ... )
{

va_list argptr;

char str[150];

int cnt;

v_a_start( argptr, format );

ent = vsprintf( str, fmt, argptr );

outtextxy( xloc,yloc, str );

yloc ;-_- textheight( "H" ) + 2;

va_end( argptr );

return( cnt ),

goto_homel() /* *Single spline (a=const)* */
{
int ¢
float wf=0.4,KPf=0.24,KIf=0,KDf=0,KOF,K1F,K2F,RF,
wb=0.4,KPb=.24,KIb=0,KDb=0,K0B K1 B,K2B,RB;
double Cf,vF,EF,EF2,PF,EF1,MF,MF1,CF0,Cfi,Cbi,
Cb,vB,EB,EB2,PB,EB1,MB,MB1,CBO;
EF=PF=EF1=0;
KOF=KPf+(KIf*T)+(KDf/T);
K1F=-KPf-(2*KDf/T);
K2F=KDf/T;
EB=PB=EB1=0.0;
KOB=KPb+(KIb*T)+(KDb/T);
K1B=-KPb-(2*KDb/T);
K2B=KDb/T;
dat[0]=0;



fun=10;
er=pcl812 (fun,&dat[0],&ary1[0],&ary2[0]);
dat[0]=count;
fun=11;
er=pcl812 (fun,&dat[0],&ary1 [0], &ary2[0]);
read_pos(&CF0,&CBO);
Cfi=CFO0;,
Chi=CBO;
e=il;
while(c<1200)
{
read_pos(&CF0,&CB0);
CE=CFU;
Cb=CBO;
RF = 0.5*wf*pow(T*c,2);
RB = 0.5*wb*pow(T*c,2);
state_homel);
if (data[2]<2.0 ) EF = Cfi-RF-Cf;
if (data[2]>=2.0) EF = Cfi+RF-Cf;
if (datal3]<2.0 ) EB = Cbi-RB-Cb;
if (data[3]>=2.0) EB = Cbi+RB-Cb;
MF = PF+(KOF*EF);
MB = PB+(KOB*EB);
vF = MF;
vB = MB;
if(fabs(vF)>2.6) vF=vF/fabs(vF)*2.5;
if(fabs(vB)>2.5) vB=vB/fabs(vB)*2.5;
if(data[0]>1.0) VF=0;

if(data[1]>1.0) vB=0;
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do

dat[0]=1;
fun=12;
while(dat[1]<0);
write_pos(vF,vB);
dat[Q]:count;
fun=11;
er=pcl812 (fun,&dat[0],&ary1 [0], &ary2[0]);
state_homel);
if( data[0]>1.0 && data[1]>1.0 ) break;
if(data[0]>1.0) write_pos(vF:f),vB);
if(data[1]>1.0) write_pos(vF,vB=0);
EF2 = EF1; EFi= EF ;
EB2 = EB1; EB1=EB ;
MF1 = MF;
MB1 = MB;
PF = MF1+(K1F*EF1)+(K2F*EF2);
PB = MB1+(K1B*EB1)+(K2B*EB2);
CH+;
}
write_pos{vF=0,vB=0);

}

ctrl_pos()

{

float  Kpf=0.24,Kif=0,Kdf=0,
Kpb=0.24,Kib=0,Kdb=0;
float  RfRFF[4000],Cf,CF,CF1,CFs,CFc,Rf1,RF(7],Zf zf KOf, K1f,K2f K1,

Rb,RBB[4000],Cb,CB,CB1 ,CBs,CBc,Rb1 ,RB[71,Zb,zb,K0b,K1b,K2b,K;



float

Xg.x11,y11,L1=90,Lb=1 36, zeta,|,X[20],Y[20],LX[10],LY[10],tim,t;

double Ef Eb,E1f,E1b,E2f,E2b,Mf,Mb,M1f,M1b,Pf,Pb,Cf0,ChO0;

int

r=10,P[7];
setlinestyle(0,0xffff,3);
Xg=D*b;
setfillstyle(SOLID_FILL,LIGHTGRAY);
bar(330,190,360,210);
setcolor(RED);
outtextxy(200,200,"NO. of a LoopD ¥
setcolor(BLUE);
gprintf(345,200,"%d",J);
C=s/D;
infile=fopen(*d:Noop1.xIs","r");
fseek(infile,0,0);
=%
while(!feof(infile))
{
if(ferror(infile))
{
printf(10,10,"File error \n');
exit(1);
}
fscanflinfile,"%d\t %\t %f\n", &Pljl, &RF{jl, &RBIj);
j++,
}
fcloselinfile);
if(E!=0 && J==m )
{
Xg=s-D*(m-1)*5;
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infile=fopen("d:\loop2.xIs","r");
 fseek(infile,0,0);
=1

while(lfeof(infile))

{
if(ferror(infile))
{
printf(10,10,"File error \n");
exit(1);
}
tscanflinfile,"%d\t %\t %An", &P[j], &RFIjl, &RBIj1);
j+4+; )
}

fcloselinfile);
}
x11=x1+Xg*cos(S)*(J-1);
y11=y1-Xg*sin(S)*(J-1);
bar(220,105,290,160),
bar(420,105,500,160);
setcolor(BLUE),
Cf=0; Cb=0; Rf=0; Rb=0;
gprintf(230,110,"%5.2f %5.2f",Rf,Rb);
gprintf(233,146,"%5.2f %5.2f",Cf,Ch);
for(i=1;i<=5;i++)
{
seftfillstyle(SOLID_FILL,LIGHTGRAYY);
bar(420,23,450,40);
setcolor(BLUE);

gprintf(430,30,"%d",i);
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| Ef=E1f=E2f=0;
Eb=E1b=E2b=0;
Mf=M1f=Pf=0;
Mb=M1b=Pb=0;
KOf=Kpf+(Kif*T)+(Kdf/T);
K1 f=-Kpf-(2*Kdf/m);
K2f=Kdf/T;

KOb=Kpb+(Kib*T)+(Kdb/T);
K1b=-Kpb-(2*Kdb/T);
K2b=Kdb/T;
ifli==1)
{
infile=fopen('d:\step11.xIs","r");
if(E '= 0 && J==m)
{

infile=fopen("d:\step21.xls","r");

}

Wli==2)

{
infile=fopen("d:\step12.xls","r");
if(E 1=0 && J==m)
{

infile=fopen("d:\step22.xls","r");

if(i==3)



infile=fopen("d:\step13.xIs","r");
if(E 1=0 && J==m)
{

infile=fopen("d:\step23.xIs","r");

}

if(i==4)

{
infile=fopen('d:\step14.xIs","r");
if(E 1=0 && J==m)
{

infile=fopen('d:\step24.xIs","r");

}

if(i==5)

{
infile=fopen("d:\step156.xls","r");
if(E 1=0 && J==m)
{

infile=fopen("d:\step25.xIs","r");

}

dat[0]=0;

fun=10;

er=pcl812 (fun,&dat[d],&aw1 [0], &ary2[0]);
dat[0]=count;

fun=11;

er=pcl812 (fun,&dat[0], &ary1 [0}, &ary2[0]);
if( ty=="y") )
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iffd==1)

if(i==1)
{
outfile=fopen("d:\pos11.xls","w");
}
if(i==2)
{
outfile=fopen("d:\pos12.xIs","W");
}
if(i==3)
{
outfile=fopen("d:\pos13.xls","W");
}
ifli==4)
{
outfile=fopen("d:\pos14.xls","W");
}
if(i==0)
{

outfile=fopen("d:\pos156.xls","W");

}
if(E1=0 && J==m)
{
if(i==1)
{
outfile=fopen("d:\pos21.xls","W");
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if(i==2)
ouﬁile#fopen(“d:\p0322.xls“,"w“);
}
if(i==3)
{
outfile=fopen("d:\pos23.xls","W");
}
if(i==4)
{
ouﬁile:fopen("d:\po§24.xls","w“);
}
if(i==5)
{

outfile=fopen("d:\pos25.xls","W");

}
setfillstyle(SOLID_FILL,BLACK);
bar(170,290,5600,310);
setfillstyle(SOLID_FILL,LIGHTGRAY);
fseek(infile,0,0);
=1
while(!feof(infile))
{
fscanf(infile," %M\t %f\n", &Rf,&Rb);
RFF[jl=Rf; RBBIjl=Rb;

J++;
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}
fcloselinfile);
k=1;
while(k<=P[i] && !kbhit() )
{ i
Rf=RFFIk]; Rb=RBBIK];
setfillstyle(SOLID_FILL, LIGHTGRAY);
read_pos(&Cf0,&Ch0);
Cf=Cf0; Cb=Cb0;
if( (y=="y))
{
fprintf(outf"e,“’/o5.4f\t9’?5.4f\n",Cf,Cb);
}
CF=Cf*pi/180; CB=Cb*pi/180;
K1=k; K1=K1/30-k/30;
if( K1==0)
{
bar(220,105,290,160);

bar({420,105,500,160);

setcolor(BLUE),
gprintf(230,110,"%5.2f %5.2f",Rf,Rb);
gprintf(233,145,"%5.2f %5.2f" Cf,Cby;

}

K=k; K=K/25-k/25;

if( (i==1 1l i==2) && K==0)

{
CF1=fabs(CF); CB1=fabs(CB);
zeta=asin( LI/Lb*(cos(CB1)-cos(CF1)) );

X[11=x11-LI*sin(CB1);Y[1]=y1 1-LI*cos(CB1);



X[2]=X[11+Lb*cos(zeta); Y[2]1=Y[1]+Lb*sin(zeta);

X[3]=X[2]+LI*sin(CF1); Y[3]=y11;
ZA=atan((x11-X[11/ly11-Y[1]));Zf=zf*180/pi;
zb=atan((X[3]-X[2D/YI3]-Y[2]));Zb=2b*180/pi;
CFs=r*sin(zf); CFc=r*cos(zf),
CBs=r*sin(zb); CBc=r*cos(zb);
X[4]=x11-CFs;Y[4]=y11-CFc;
X[5]=X[1]-CFc;Y[56]=Y[1]+CFs;
X[6]=x11-CFs-CFc;

Y[6]=y11-CFc+CFs;
X[71=X[11+CFc;Y[7]1=Y[1}-CFs;
X[8]=x11-CFs+CFc; )
Y[8]=y11-CFc-CFs;
X[9]=X[1]+Lb*cos(zeta), Y[9]=Y[1]+Lb*sin(zeta);
X[10]=X[3}-CBs; Y[10]=Y[3]-CBc;
X[11]=X[2]-CBc;Y[11]=Y[2]+CBs;
X[12]=X[3]-CBs-CBc;
Y[12]=Y[3]-CBc+CBs;
X[13]=X[2]+CBc;Y[13]=Y[2]-CBs;
X[141=X[3]-CBs+CBc;
Y[14]=Y[3]-CBc-CBs;
setfillstyle(SOLID_FILL,BLACK);
bar(x11-100,y11-120,x11+260,y11+5);
setcolor(LIGHTCYAN);
arc(X[11,Y[11,Zf,180+Zf.1);
arc(X[4],Y[4],180+Zf,360+Zf,1);

* line(X[51,Y[51XI61,YI6));
line(X171,Y[71,X(81,Y(8]);

arc(X[9],Y[9],Zb,180+Zb,1);
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}

arc(X[10],Y[10],180+Zb,360+Zb,1);
line(X[111,Y[111X(121,Y[12]);
line(X[131,Y[13LX[141,Y[14));
X[15]=X[1]-16*cos(zeta)+16*sin(zeta);

Y[156]=Y[1}H1 5*(sin(zeta)+cos(zeta));

X[16]=X[16}-30%sin(zeta); Y[16]=Y[1 5]+30*cosl(zeta);
X[171=X[1 5]+(Lb+30)*cosl(zeta);Y[1 71=Y[156]+(Lb+30)*sin(zeta);

X[18]=X[16]+(Lb+30)*cos(zeta); Y[18]=Y[1 6]+(Lb+30)*sin(zeta);

line(X[156],Y[15],X[16],Y[16]);
line(X[16],Y[16],X[18],Y[18]);
line(X[18],Y[18LX[171,Y[171);

line(X[17],Y[17],X[15],Y[15]);

if(i==3 && K==0)

{

CF1=fabs(CF); CB1=fabs(CB);
zeta=asin( LI/Lb*(cos(CB)-cos(CF));
setcolor(LIGHTCYAN);

X[1]=x11+LI*sin(CB);Y[1]=y11-LI*cos(CB);

X[2]=X[11+Lb*cos(zeta); Y[2]=Y[1]+Lb*sin(zeta);

X[3]=X[2}-LI*sin(CF);
zb=atan((x11-X[1}/ty11-Y[1])); Zb=zb*180/pi;
ZF=atan((X[3FX[2D/y11-YI21)); Zf=zf*180/pi;
CFs=r*sin(zf);CFc=r*cos(zf),
CBs=r*sin(zb);CBc=r*cos(zb);
X[4]=x11-CBs; Y[4]=y11-CBc;
setfillstyle(SOLID_FILL,BLACK);
bar(x11-100,y11-120,x11+250,y11+5);

arc(X[11,Y[11,Zb,180+Zb,1);
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}

arc(X[4],Y[4],180+Zb,360+Zb,r);

line(X[1}-CBc,Y[1]+CBs,x11-CBs-CBc,y1 1-CBc+CBs);
line(X[1]+CBc,Y[1]-CBs,x11-CBs+CBc,y1 1-CBc-CBs),

arc(X[2],Y[2],Zf,180+Zf,r);

arc(X[3}-CFs,y11-CFc,180+Zf,360+Zf,1);

line(X[2)-CFc,Y[2]+CFs, X[3]-CFs-CFc,y11-CFc+CFs);

line(X[2]+CFc,Y[2]-CFs X[3}-CFs+CFc,y11-CFc-CFs);

X[5]=X[1]-16*cos(zeta)+15*sin(zeta);
Y[5]=Y[1}-15*(sin(zeta)+cos(zeta));
X[6]=X[5]-30%sin(zeta); Y[6]=Y[5]+30*cos(zeta);
X[7]1=X[5]+(Lb+30)*cos(zetal;
Y[7]=Y[5]+(Lb+30)*sir\(zeta);

X[8]=X[6]+(Lb+30)*cos(zeta);

Y[8]=Y[6]+(Lb+30)*sin(zeta);
line(X[5],Y[5],X[6],Y[6]);
line(X[6],Y[6],X[8],Y(8]);
line(X[8], Y81 XI71Y[7]);

line(X(71,Y[7],X61,Y[5]);

if( (i==4 Il i==5) && K==0)

{

zeta=asin(LI/Lb*(cos(CF)-cos(CB)));
setcolor(LIGHTCYAN);

X[11=x11 +Lb+Xg+LI*sin(CF)—Lb*cos(zeta)—Ll*sin(CB);
Y[1l=y11-r;

X[2]=X[1]+LI*sin(CB); Y[2]=y1 1-LI*cos(CB);
X[3]=X[2]+Lb*cos(zeta);

Y[3]=Y[2}-Lb*sin(zeta);

X[4]=x11+Lb+Xg;
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zf=atan((X[3]1-X[4D/ly11-Y(3]);Zf=2f*180/pi;
zb=atan((X[2}-X[11)/ty11-Y[2]));Zb=zb*180/pi;
CFs=r*sin(zf),CFc=r*cos(zf);
CBs=r*sin(zb);CBc=r*cos(zb);
X[6]=X[11+CBs;Y[5]=y11-CBc;
X[6]=X[4]+CFs;Y[6]=y11-CFc;
setfillstyle(SOLID_FILL,BLACK);
bar(x11-100,y11-120,x11+250,y11+5);
arc(X[2],Y12],360-Zb,180-Zb,r);
arc(X[5],Y[5],180-Zb,360-Zb,1);
line(X[2}-CBc,Y[2]-CBs,X[1]+CBs-CBc,y1 1-CBc-CBs);
line(X[2]+CBc,Y[2]+CBs,X[1]+CBs+CBc,y11-CBc+CBs);
arc(X[3],Y[3],360-Zf,180-Zf,1);
arc(X[6],Y[6],180-Zf,360-Zf,r);
line(X[3]-CFc,Y[3]-CFs,X[41+CFs-CFc,y11-CFc-CFs);
line(X[3]+CFc,Y[3]+CFs,X[4]+CFs+CFc,y1 1-CFc+CFs);
X[71=X[2]-15* cos(zeta)+15*sin(zeta),
Y[7]=Y[2]+15*(sin(zeta)-cos(zeta));
X[8]=X[7]+30*sin(zeta); Y[8]=Y[7]+30*cos(zeta);
X[9]=X[7]+(Lb+30)*cos(zeta);
Y[9]=Y[7}HLb+30)*sin(zeta);
X[10]=X[8]+(Lb+30)*cos(zeta);
Y[10]=Y[8]-{Lb+30)*sin(zeta);
line(X[71,Y[7],X[8],Y[8]);

line(X[8],Y[81,X[101,Y[101);

line(X[10],Y[10],X[9],YI9);

line(X[91, Y[91.X[71,Y[7]);

Ef=Rf-Cf;
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Eb=Rb-Cb;
Mf=Pf+ KOf*Ef;
Mb=Pb+ KOb*Eb;
vi=Mf;
iftfabs(v)>2.6) vf=(2.5*vf)/fabs(vf);
vb=Mb;
if(fabs(vb)>2.5) vb=(2.6*vb)/fabs(vb);
do
{
dat[0]=1;
fun=12;
er=pcl812 (fun,&dat[Q],&aw1 (0], &ary2(0]);
while(dat[1]<0);
write_pos(vf,vb);
dat[0]=count;
fun=11;

er=pcl812 (fun,&dat[0],&ary}[0],&ary2[0]);

E2f=E1f;E1f=Ef;
E2b=E1b;E1b=Eb;
M1f=Mf;
M1b=Mb;
Pf=M1f+ K1f*E1f+ K2f*E2f;
Pb=M1b+ K1b*E1b+ K2b*E2b;
K++;

}

fclose(outfile);

}setlinestyle(0,0xffff,1);

/ * Augallsunsuadunn * %/
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